2024 E

FREYyH—-)—-JHIEEXR

20244118218
] HH =5 BFRT | ER FFE =4 S5 %R
11001 1 n 2 - 2 | YFCHE®R® | #— 75
st G X FeRmE® YFCPOE ch st
13.00] 2 [ scevv~=E | 0 - 0 [kMi@FFC Tk
1| 38318 10:00] 1 AJZFC 3 - 2 | BAYYH—E FREEFC
458SP | 12:00] 2 J\I&EFC 5 - 0 Y57 AKZFC ARZFC
14:00| 1 FRAEFC 1 - 1 FSFC J\IEEFC
4148 | TF#c |1vn00] 1 2 5 1 - 3 FZFC ML AR g
, 0001 2| xBz5~ 9 - 0 ML &R
ag218 | mEG |1200| 2 [ scevv=© | 7 - 1 FCA—X F 20 5 KEYS5T
14:00] 1 IS 3 - o0 |Exvvr-m|
1000] 1 FOKELE 1T - 3 | YremEgk IR
58128 HEG 12:00] 1 FCFME - FHZEFC MR FDKHhE
3 14:00| 2 JIESEFC 11 - 1 FCA—2Z k
000 2| %>257 0 - 8 MoamFCl .. —
58198 | ®m=ma ~ NP FRIRFC ¥ r57
12:00] 2 J\IEEFC o - 1 SCYYY<FE
10:00 | 1 FCAT 3 - 0 |®BAYvH—F
5260 | LG THE ERY YD sewvrem | Forme
. 12:00] 1 IS 0 - 2 5
- 10:00] 1 FCFAIB 1 - 4 FRAEFC
6898 | mmG = — BwFSS RRAEFC
1200 2 | kg5o357 1 - 5 NERFC | ———
- |
T0:00| 2 | JERFC : mumem | L |
w86 |1200 2 [ sc=vv=& | 1 - 2 FEFES S B o557 ML R
5 | 65168 1401 2 [ Fcr—x=+r 1 - 6 | AME&FFC
10:00] 1 F5FC 1 - 4 HERFC ‘
WHG _ FDKHtE FEFC
1200| 1| YrCmET®®= | 1 - 4 |BAYvH—5 = -
00001 2| xB75~ 2 - 5 | SCvUYvE ‘
68238 | G : Al Bty h—m| KkEs57
i 12:00 1 FDKtE 2 - 2 1 ESERFC -
10:00] 1 A 4 - 2 FCFME o _
68308 [ LG - —— | Kb&EmFC | FCFAE
12:00] 2 #AFS S 3 - 0 WL TERT
10:00 | 1 ARFC 1 - 2 FRAEFC
7| 7878 | ®mzma [1200| 2 | kBs5~ 6 - 2 Y EY, FCEME ARZFC
. Ho - 54 2
1400) 1 =7 4 ! FDKEIE IETE (8/25%HE) Bl : J\MBRFC
000 2| %2257 1 - 1 FCA—2 I
7148 | =26 [12:00] 2 BFS S 1 - 1 | AMNEERFFC|EAvyvhr—m| H>o57
. 14:00| 1 [BAYvH—2 - wEEFC ||
10:00 | 1 20 1) 4 - 2 | YFCmET® IRSE
78218 |vxLrmG [1200] 2 | scevv~& - ML TERT WA YFCPUE th sk
1400 1 | BAvvr—m| o 3 HEEFC
10:00] 2 FCA—Z k 0o - 2 INITGEE3s IR
»% LEG LR - FCA—=% b
o | 15088 12200 1 ASZFC 4 - 2 FZFC
10:00| 2 TS S 1 - 2 AEEFC | .
BTG ghyvh—m| @FSS
12:00] 1 PN 2 - 0 FRAEFC )
12:00| 2 FFS S 9 - 0 FCA—2Z F \
10| 9818 | T#a : —— B s 57 PSS
1200| 2 x8r357 3 - 3 | AMEEFFC




0] AH =5 SIS TER =¥ =G
1000 2 | scevv~ | 0 - 1 Y57
HREG 12:00] 1 FCFN & 1 - 2 YFCHUE &k FREFC SCYvYY~<E
14:00 | 1 Ak 1 - 2 FEFC
11| 9A8H — -
10:00 | 1 0 6 - 0 |BAYvyH—I
&R 12:00| 2 J\IEEFC 3 - 0 NIt FDKE#E BRY Y H—E8
14:00 | 1 ARFC 3 - 1 ¥ EEFC
121 9a158 I 10:00| 2 7fﬁ§d4$?_§ﬁﬁ\\ 0 - 10 | KMm&ATF C FCA—= b WL A
1200 2| xB2o57 0o - 1 BFSS
sl oman | ox eme 2200 1 YFCHEH% | 3 - 2 $TEIEFC scevrom | vecmmma
12:00| 1 EEp 3 - 2 FRAEFC
. SC?“/'\ﬂ_v\f\,ﬂ% 3 - 0 NIt L -
11| 97200 12:00 | 2 KR Z7 - FC4—*7\\‘ k IEEE
G o)LL FCRHB | 2 - 2 | FOKEE | wmamrc| roens
12000 2| v>s357 0 - 5 BFSS
1000 2| #vs57 2 - 3 ML &R
15] 10868 | dxxk [ 12:00] 2 J\IEEFC 2 - 3 | KRM@EFmFC FCEME Y57
14:00 | 1 EEp 0 - 1 B EEFC
16]10520m| swe P20 L] FCFAS 3 - °© ABIFC J\WEEFC FCHFM &
12:00] 1 FDKtE 4 - 5 FREFC
1000 1 | YFCmEHRLE | 3 - 0 FRAEFC
17108278 =86 |12:00] 1 FCFME 2 - 3 7a4<FC ¥ B EFC FRAEFC
14:00 2| kBps57 5 - 0 FCA—X b
10:00 | 1 FRAEFC 2 - 6 |BAYYH—HE
18| 11A3R [ LEELG [ d— T — RFC BFSS FRAEFC
10:00 | 1 HAk 3 - 1 FDK#tE
19118108 #ze [1200]| 1 | BAY Yy H—m| 4 - 1 FaEFC YFCPUE AR g AR
14:.000 2| wro57 g8 - 2 FCA—2Z b
jung LU0 L] FCFAE | 8 - 4 =7 (BEEL) FOEMIE
12:00| 2 J\IEEFC 2 - 3 BFSS
201118178 1000 2| k5s57 7 - 2 NI T
=¥ [ 12:00] 1 FRAEFC 4 - 1 $RIRFC FEFC KB 5T
14:00| 1 FDK#E 1 0 ARRFC
1000 1 | YFCmEHRHR [ 1 - 1 FEFC
v CEG[12:00] 1 PN 7 - 0 HTEIEFC FCA—2 b YFCPUE hse
14:00 | 1 B 4 1 ARRFC
21| 118248 ‘ — -
10:00 | 1 FDK#tE 0 - 2 |BRYvH—H=
BS54 12:00| 2 A¥FSS 4 - 2 KM &FTFC NI 43y BAY Y H—EB
14:00| 2 J\I&RFC 2 - 1 | scevvem
s |A000] 1 FDKE&Jﬁ_ﬁE‘\ 1 - 2 FEFC SsEC DK
o 12000 2| xkBs57 10 - 0 fci—x b
A B I M%;;E\_Fc\\ 1 - 4 ﬁ;d\l\lmii_bﬁﬁ f C G F G S C
12000 2| v>so357 0o - 6 NI R0
10:00 | 1 ARFC 1 - 1 | YFCHE+$®
23| 12888 | =G [12:00] 1 FCFME 2 - 0 $ERFC ) ARFC
14:00) 2 | scevv~E | 1 - 5 |AMHEFHRFC
10:00] 2| xk5s57 5 - 2 Y57
24128158 F#c |1200]| 2| scevv~m | 3 - 5 BFSS J\I&EFC Y57
14:.000 2| Fca—=t 5 - 0 NI T




